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Mo has these lolly sticks.

He uses them to make squares.

How many squares can Mo make?

Complete the sentences.

There are 17 lolly sticks.

There are groups of 4

There is lolly stick remaining.

17 =4 = remainder

Mo can make squares.
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Mo has 12 lolly sticks.
He arranges his sticks to make triangles
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How many triangles can Mo make?

Does he have any left over?




Mo has 12 lolly sticks.
He arranges his sticks to make squares. =

How many squares can Mo make?
Does he have any left over?

What if Mo has 23 lolly sticks.
How many squares and triangles could he make?
How many sticks will be remaining each time?






